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1 Introduction
[bookmark: _GoBack]In last meeting, the interruption requirements due to Tx switching between 2 UL carriers was discussed. A WF [1] was agreed. The remaining open issues are listed below.
· DL interruption length
· DL interruption location/starting point 
In this paper, we provide our view on above issues.
2 Discussion
DL interruption length
The number of OFDM symbols to be interrupted can be calculated based on UE’s capability reporting on the switch period length plus some margin due to timing advance. For an example, if switch period occurs at the beginning of UL slot #n, as shown in Figure 1, the # of interrupted DL symbol can be calculated by , where 1 is added because the timing difference between DL and UL slots may not perfectly be a multiple of OFDM symbol duration. The exact numbers of Interruption length in us and in symbol for different switch periods and SCS are provided in Table 1.
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[bookmark: _Ref36504678]Figure 1. Calculation of # of interrupted DL symbols

[bookmark: _Ref39912093]Table 1 Interruption length in us and in symbol for different switch periods and SCS
	Switch period
	SCS
(KHz)
	1 symbol duration (us)
	interruption length (us)
	interruption length (symbol)

	35
	15
	72
	107
	2

	
	30
	36
	71
	2

	
	60
	18
	53
	3

	140
	15
	72
	212
	3

	
	30
	36
	176
	5

	
	60
	18
	158
	9

	210
	15
	72
	282
	4

	
	30
	36
	246
	7

	
	60
	18
	228
	13



[bookmark: _Ref39912385]Proposal 1: The length of the interruption is symbols.

DL interruption location/starting point
Regarding the location of the interruption, it should the OFDM symbols fully or partial overlapped with the UL switching period, as shown in Figure 1.
[bookmark: _Ref39912388]Proposal 2: The location of the interruption equals the OFDM symbols fully or partial overlapped with the UL switching period
3 Summary
In this paper, we provide our view on the interruption requirements for Tx switching between two uplink carriers. We have the following proposals.
Proposal 1: The length of the interruption is symbols.
Proposal 2: The location of the interruption equals the OFDM symbols fully or partial overlapped with the UL switching period
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